SET -3

Series : ONS/2 HISH.
Code No. 5 9/ 2/ 3

A A,

TRIeTTl e T STR-YRAH & TE-IS

Roll No. T 39T foig |

Candidates must write the Code on
the title page of the answer-book.

PUAT S T 16 37 AU § Yigd I 12§ |

TY-U H e 219 i 3R TT T g T 1 3 SW-YRashl & J@-JL R o |

PUAT AT H T 6 3T IA-IT H 27 WA ¢ |

FUAT UI BT I (TG I HIA | U, I HT 5HHIS a9 fored |

TH TA-TF W U & U 15 e o 9n fea T e | U0 1 faeRer gaed ° 10.15 5
fopam ST 1 10.15 &1 & 10.30 1 T ST FHa TE-0 I T@T R 39 fEtd & IR o
SAC-RAHT W he IR Tal fordwt |

Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

NECIGRERIG]

POLITICAL SCIENCE

e g 3 gue SferBaq s 1 100

Time allowed : 3 hours Maximum Marks : 100

| e
(i) & I9T AT & 1
(i) T G 1 — 5 % Hedeh 997 U 3iah & & | 37 J9] &7 Fedeh 3¢ 20 I & 37y 781

gl =R |

(iii) T97 G&I1 6 — 10 T Fdeh T97 gt 3l &7 & | 57 Fo-1 & Je9% ¥ 40 =1 @ 3ifrw

Tl &I wRT |

(iv) 797 G111 - 16 7% Fd% G99 =T 351 &1 & | &7 F91 %7 Gedeh 37 100 9157 G

Y 781 817 T |

(v) 797 &1 17 © 21 % Hede 9 ier 37l &1 & | 59 591 & Gedeh 3o 150 o151 9

59/2/3

4 781 817 T |

1 [P.T.O.



(vi)

Tv &I 21 Tl TX SR J99 & | §9H 3T 3791 STR-GIeashr J [AEw |

(vii) F99 GEI122 27 7% AdF 597 & 3 H1 & | 57 591 7 i 38 150 J151 G 37fers

Tl &I wRT |

General Instructions :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

All questions are compulsory.

Questions number 1 — 5 are of one mark each. The answers to these questions

should not exceed 20 words each.

Questions number 6 — 10 are of two marks each. The answers to these questions

should not exceed 40 words each.

Questions number 11 — 16 are of four marks each. The answers to these questions

should not exceed 100 words each.

Questions number 17 — 21 are of five marks each. The answers to these questions

should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your answer-
book.

Questions number 22 — 27 are of six marks each. The answers to these questions

should not exceed 150 words each.

1. TEl-foRTe SMiRTer T UTHoT 3ireel | Ush = UehR T Uehs]e e ol AIehT Sl HIFd & 2

Why is Anti-Arrack Movement called an altogether different kind of mobilization in

the rural areas ?

2. T-RUETA ot Aifd 1 U R % AESE, IR F 1971 § GifeEd g % 9 whifd qe
TosraT =l 20 Tu SR T 2

Inspite of following a policy of Non-alignment, why did India sign 20 year Treaty of

peace and friendship with the Soviet Union in 1971 ?

3. O Y &I P 3T ¥, SN GHTEAT o Ueh 3MUR % 81 I GeAagal & Greeehivl & 3R
T 39 Y I AT BN |

“The loss of land means the loss of an economic resource base.” Interpret the

statement from the indigenous people’s point of view.
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4. coniEEe v § F A § 2 1
What does ‘ASEAN Way’ imply ?

5. T A EfanEd 3 9 5 R % 6T TRt Fé e o ? 1
(a) WRIE i H Elet & |
(b) TT¥EH & SERT O AT |
(c) 3Td-=aE o GET |
(d) PR W FHSR I s & |
Gorbachev did not promise to reform which one of the following ?
(a) To loosen the administrative system.
(b) To catch up with the west.
(c) To reform the economy.

(d) To maintain a strict control over the government.

6. T UL HT g o Ui T GEhI0T 21T & 2 2

What is the attitude of the neutral states towards war ?

7. OlE | i IO o 90 § U eH & ®9 b, TSa MH — AT GHS BT 3TehelT
T | 2

Assess the Rajiv Gandhi — Longowal Accord as a step towards bringing normalcy to
Punjab.

8.  TE T el Il & foh Tete i Fert iy Ht et o Ferdl-Sjerd € 2 2

Why is it said that the story of Nagaland is similar to that of Mizoram ?

9. 37 URTdEr il fReToT it 8- TRAT AremR 51 6l 1964 H o & fow faemr
fopar ar | 2

Analyse the circumstances that compelled the Communist Party of India to go for a
split in 1964.
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10.

11.

12.

13.

14.

TATeTRET o Het &Y 4xY2=2
(A) (B)

(81T STTHTEATAT it UTe) T
(a) THISTR-ETHP Y= & MR YT T FA707 () TR
(b) T TET 3R s & T o (i) TREE
(c) &HT e o Tholaey 59 & HaoTapl /T (jii) O
(d) TEErE T & 3MYR U STerTearst i (iv) dHerTg
Match the following in a meaningful way :

(A) (B)

(Nature of regional aspirations) (States)
(a) Socio-religious identity leading to statehood. (i) Mizoram
(b) Linguistic identity and tension with centre. (i1)  Jharkhand
(c) Regional imbalance leading to demand for statehood.  (iii) Punjab
(d)  Secessionist demands on account of tribal identity. (iv) Tamil Nadu
M (ASEAN) 3TTIeh TR o {ohvel IR T 32941 I Sooid ity | 4x1=4

Mention the four main objectives of ASEAN Economic Community.

el STt & T U € 2 S Sfokd 6T SUHIT hi T 7 H Tobel & 3] 41 2 2+2=4

What is meant by Veto Power ? Which countries enjoy this power and why ?

AOHA fovd ToHig & S H 37 ool [hel I) 9gieror Gedl foarell sl 39R
HIT |

Highlight any four environmental concerns which fall within the scope of

contemporary world politics.

4x1=4

TRATT SHE I LT {68 ot 3 & 2 I8 T1 <9 &% 319 AT gl 9 6 Uhr
N7 a1 ?

1+3=4

Who formed the Bhartiya Jana Sangh and when ? How was it different from other

political parties of India ?
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15. et 1980 H SHAT THR & Y- a9l ofish T % folT 73 T | A6 ™ & et A
IAEHT &7 2 39 IR il T HIT | 4
What led to the downfall of the Janata Government and holding of fresh Lok Sabha
elections in January, 1980 ? Explain the circumstances.

16. 9RT | WHRT AT a1ct 274 foTeht & He<wd H Al & [0 STRGTAT YR IEITaaT st aRieTor
HITT | 4

Examine the circumstances responsible for reducing the salience of State-led
economic development in India.

17. ST T FEaRT i SHYa gy 3R H=iaiad Je=t & 3T I 1+1+1+2=5

IRA T &G & A 0 FaHl & HRUT FHIAR, FoA-3MY(A, SRLT Awag o

et gaAreT & SRH-USH, Wed TR | Ugd s g 914 o 91 19+ ot § Fqe

A S A&l § AR gC § | B9 B 30 99y ¥ GO 9 FEST W€ ¢ O YRS €9 % few

TART 1 TEXT W ST WRIGIR I & | TRA™ HA1 Sl HYT A Ft-a= € 9

T Bl € | dfeh WRA A & ST <90 A ¥ Ueh & SHIAT o R & & fely Hewagol ¢ |

3T et % The HI TE H EHIM WRA Fl HEE Bl § | IRA ©F ¥ 30 Soll-3TaTe i off

TG I DI L T & | T DI BHhE 3HR TehRA o a1 ff oef W & | 37

TURTSET o QT &AM o 3T oot aet Tomehl § QISR 31X Faer e of st & 1 &9

IR ! RATUER AT & foTT o Tewaqul § | ®F F YR & 37aiet SaT | of Sl ug

TR eI H |

() ®E B H qGA T YA I Teddl Hd i ?

(i) YRT 3R ®F & g 3T Gl A, 99 & 1 Frarel § Gqoid S0 3@ & [,
TR I FETIdT [hd UHR i 2

(i) YRT & AR ST H &F 7 [T YR Tl i ?

(iv) 9RA 3R EF [Hd UHR Tk THY T AN UgaTd & 2 IHT 3R F Th-Ueh I3 ST |

Read the passage given below carefully and answer the following questions :

India stands to benefit from its relationship with Russia on issues like Kashmir,

energy supplies, sharing information on international terrorism, access to Central

Asia and balancing its relations with China. Russia stands to benefit from this

relationship because India is the second largest arms market for Russia. The Indian

military gets most of its hardware from Russia. Since India is an oil importing nation,

India is important to Russia and has repeatedly come to the assistance of India during

its oil crises. India is seeking to increase its energy imports from Russia and the

republics of Kazakhstan and Turkmenistan. Cooperation with these republics includes

partnership and investment in oilfields. Russia is important for India’s nuclear energy

plans and assisted India’s space industry also.

(i) How did Russia help India on Kashmir issue ?

(i) How do good relations with Russia help India to balance its relations with
China ?

(11) In what way did Russia help the space industry of India ?

(iv) How did India and Russia get benefitted from each other ? Give one example
from each side.
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18.

———

T ST T Al THERT 67 MY ST BT 3R FEfeiad e h SR AN 1 +2+2=5
(i) o vReTT % WgHH aTet W g7 Sl e i |
(i) TR A Sl WEHR A Yo o UeT 37 fore | Fa o o 2
(ili) YT A & T & S T 39 el U T Uidishar e
Study the above newspaper illustration carefully and answer the following questions :
(1)  Identify the main issue that sparked off the agitation.
(i)  What did the National Front Government decide in favour of or against the
issue ?
(i11)) How did the coalition partners in the National Front react to this decision ?

A ;. FfeRad 7o heet gReaTierd wieTeET & fod ued Tem 18 F A WE 12+2+1=5
18.1. 37 TUmg ol =l qaTe e 3 o W o 3ffeea & 2
18.2. TEeT SN i TATIAT T i 4T off 2
18.3. I HIT ol AIHR BT FLHAT HH T 2

Note : This following questions are for the Visually impaired candidates only in lieu
of question No. 18.

18.1  What was the rationale behind giving adequate representation to Other
Backward Classes ?

18.2  Why was the Mandal Commission setup ?
18.3  Who was the Prime Minister of the National Front Government ?
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19. = 3T T SFeor i SFHgEs Uigd 3R Hetetad ueal & 3 i 2+2+1=5

59 T fordl =afed o1 TR & HeRRT i eET T TEd SR Mo o &,

ST IE TH I DT {97 i W off Be] 3R ST e 1 376 Uear ¢ | fospreier

M & U SR HET & T 310 GUBRT T R A & AT STt GETEAT Bl 377

BT & | 36 Iofd Jf 9g-d¢ S¥I i STUET a¢ WH-HS el W lRT ST faeer At a

HA & | TH T 1 IR TH o1 W BT & 1 S IS | -9 e W@ 3R faerg g

W@ | T AT, forebraeiier 391 e i TLET i gfite & 91T drehde] 39 W ol g

T | 30 fRar &1 off S fader Afq W Se-qe o7 Usdl € | W 9vags & q[d 9% &b

R A oM Tohreier 3917 = drehde] I 1 TSl bl &M H TH 7T forser =ifq 31arg

HITF 3T I T T TR 37T Fol (et T AT | T aofe ¥ g o fafe= <91 &1 & |

T |

() YR T i wIiad HA et Te] TAT SR T TR0 T Ueh-Ueh SR
T |

(ii)  Toepraetier ST o1 & 370 Uiy | Wit 9o faem W aifye i g § 2

(ili) 37 3 9 T & A Ay 579 e S gam o |

Read the passage given below carefully and answer the following questions :

Just as both internal and external factors guide the behaviour of an individual or a
family, both domestic and international environment influence the foreign policy of a
nation. The developing countries lack the required resources to effectively advocate
their concerns in the international system. So, they pursue more modest goals than the
advanced states. They focus more on peace and development in their own
neighbourhood. Moreover, their economic and security dependence on the more
powerful states occasionally influences their foreign policy. In the period
immediately after the Second World War, many developing nations chose to support
the foreign policy preferences of the powerful countries, who were giving them aid or

credits. This resulted in the division of countries of the world into two clear camps.

(1) Give one example each of the domestic as well as international environment
that has influenced the foreign policy of India.
(i) Why do the developing countries focus more on peace and development in their

own neighbourhood ?

(ii1) Mention the two super blocs the world was divided into.
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20. ST T STEARoT B SAFYEE Uigd Y HETeiad W % ST ST 1+2+2=5

TRA | SRElhT0T 1 fORMg g eThl 9 8 @1 & | 3T oReehol & fged g

qaX i SETST ST Soil bl % & 32T & df Sied- TRTeT BRE S T & off | it

e 3T FHATT o TS = TR T o FerT i foriy fohan € | 9 awtaal aeeH

A T STERIDT SR RIUG FH A U I & Uag 6T | g ff gl foxre g7 |

(i) YR & {2l 3 amu THdeh el % A fefEy |

(i) foram @ s i A, TEALR HAHE & IRA AT % (a6g oy ueee w
foh 2

(iii)  3THLIHT HHT FRT =H T Sl U< I o HROT qRA H a0 Hat a7 5377 2

Read the passage given below carefully and answer the following questions :

Resistance to globalization in India has come from different quarters. There have

been left wing protests to economic liberalization voiced through political parties as

well as through forums like the Indian Social Forum. Trade unions of industrial

workforce as well as those representing farmer interests have organized protests

against the entry of multinationals. The patenting of certain plants like Neem by

American and European firms has also generated considerable opposition.

(i) Name any two left wing political parties of India.

(i)  Why did the unions of workers and the farmers organize protests against the
entry of multinationals ?

(i11)) How did the patenting of the Neem tree by the Americans generate opposition
in India ?

21.

59/2/3 8



59/2/3

few 7w sferor wfvrn &% Y@raEtes § 9 wE B A), B), (©), (D) 7@ (B) gr semEn
T € | AR S TS SRR 6 SR WX S U E HINIT SR ST ST-gRas H 3
TEl AT, TN Y T BRI Dl HT AT TAT e SR Hl A TS AT b w9 §
fafem | 5x1=5

TN & T8 AHRI Bl A G&AT | Haidd 6w 9T BT ATH

() 39 <0 F AT o it a1 Wi % FuTer ST AT Y Hehel © |

(i) TE IV 1960 H IRA & Q1 14y STet Gy ol off |

(iii) Torpmaetict 32 & | Ush - TheTaesh SOt Jig i 52 i &1 § & |
(iv) T RIS, liehasl o URTER Tl HISTETa! wIfskar o fqepin Fod & TeRA aTell 397 |
(v) SI9 T ST 1968 b Ueh Hood T |

In the given outline map of South Asia, five countries are marked as @, , @,

@ and @ Identify them on the basis of information given below and write their

correct names in your answer book with the respective serial number of the
information used and the alphabet concerned as per the following format :

Serial No. of the Alphabet | Name of the
information used | concerned Country

(1)  The citizens of this country can travel to Nepal and work there without any visa
or permit.

(1)) This country signed the Indus Water Treaty with India in 1960.

(11) One of the first developing countries to successfully control the rate of growth
of population.

(iv) The country that faced a triangular conflict among the monarchist forces, the
democrats and the Maoists.

(v) Island nation which was a Sultanate till 1968 ?

9 [P.T.O.



At FEAfATEd 7o oot giteantad wWeE & U T T 21 F™_EARE | 5x1=5
21.1. Sferor URTET % e X1 7 ST off T € 2
21.2. sficiohl % TgEETH QR H A1 fefEay |
21.3. g 3fRI0T TS S TEEE YU DS Y TR T 70T 2
21.4 e % fo foehrq st & HeliTush TemidT e drell S97 i 1 € 2
21.5 2006 W fohd 397 | ikl ol JARNTAT &5 ot 2

Note : The following questions are for the Visually Impaired candidates only in lieu
of Q. No. 21.

21.1  Which country of South Asia is still being ruled by a monarch ?
21.2  Name the majority community of Sri Lanka.

21.3  Which country of South Asia shifted from the Parliamentary form of

Government to Presidential form of Government ?
21.4  Which country is the biggest source of developmental aid to Bhutan ?

21.5 In which country did restoration of democracy take place in 2006 ?

22. 1969 H HRET ULt & U= Tt & o1t SR fafeshe o 2w et o s Jesmsit

1 forgersor HifT | 6
arerar

1970 % TMF H, IR H T GHR qdT IRt & g o9 H1 oI HROT - arelt

HATST BT 3THT DT | 6

Analyse the factional rivalry between the Syndicate and Indira Gandhi which led to
the formal split in the Congress Party in 1969.

OR

Assess the developments which were the root cause of the confrontation between the
Union Government and the Judiciary in India in 1970s.

23. YRA % QuIfad forTs o ey |, YRA P AT TR T2 et T o gieshiol ¥ 3fd
T HIST | TSTATST I THE T &A B o [T TR TN o GHT =41 § T di fa=amy
T TIRI0T HITSTT | 3+3=6
e

1960 % T |, SI7 o e W § 9YRI GRS Hohe a7 3TheT Sl [efd Uer e o fog

SRR URfefad &1 foveiour ST | 397 % 69 T59 & Fad A AT gel Y

HY 7 WL DT | 3+3=6
59/2/3 10




Distinguish between the approach of Interim Government of India and the Muslim
League regarding the possible division of India. Examine the considerations that
guided the Indian Government to solve the problem of Princely States.

OR

Analyse the circumstances which led to a severe food shortage and famine-like
conditions in many parts of the country in 1960s. Which state of India suffered the
most and how ? Explain.

24, TIH AL & & H 98eTd & IR H TR & GhivT & FuH HiteT | 6
reraT
IR ! T AT % [H=l q- T T2l Hl aui HIT | 3x2=6

Describe India’s view point about the restructuring of the United Nations.
OR

Describe any three broad components of India’s security strategy.

25. ST S 6 A H S Aol W 99 A STERE! i [oReiyor ST | 3x2=6
AT
T T 31T & A & ol ST A T ShRhl Tl 3THeT iU | 3x2=6
Analyse the biggest three constraints that operate on American hegemony.
OR

Assess the three major factors responsible for the rise of the Chinese economy.

26. TE-TUST AR % Uk T 8 & A, I I b SR TR Tt JHHT i SARAT i | 6
areraT
Hiterad T o faeed 3 7 9 aE 9 favar THiid ot Iefad fhar 2 e S |
Ix2=6

As a leader of Non-Aligned Movement (NAM), explain India’s role during the Cold
War.

OR

In what three ways did the collapse of the Soviet Union affect the world politics ?
Explain.

59/2/3 11 [P.T.O.



27.

e H fohen “aEd SN T FHET STar 47 2 Ja & o 3% deY &1 R T =ed & 2
e L

3Tl T WeH A (3T) 7 30 THET i & B H T e F9TE 2 1+2+3=6
rerat

1989 & TR, YR o 3AHRT TSHIH Goll H Seal FeArd i el i sl 0 qo

HIT | 3x2=6

Who were considered to be ‘outsiders’ in the North-East ? Why did the people of
North-East want to oust them ? What role did All Assam Students Union (AASU)

play in solving this problem ?
OR

Describe any three elements which are part of the growing consensus among most

political parties in India after 1989.
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